~
ZIAN ./ RERXRO )

S
£ 48 E AW
/6J

RDH FERRZEEo>TREL S

1] (2x +1) (2x +3) V0 21 (3x +2y) 3x —2y)
2x=A t5< = (3x)° —(2y)°

= (A+1)(4+3) = 9x’ —4y?

= 42ig4 13 \[2§0<2¥TT!]

= (2x)° +4x2x +3

= 4x°+8x +3

31 (4x +y) (4x —5y) L0 [4] (5x —2y)> ARG
dx=A L#55< Sx=A4,2y=B »#<

= (A Ty —3y) = (4 —B)°

= A7 —4yd =35y’ = 4> —24B +B’

= (4x)” —dyxdx —5y° = (5x) —2x5xx2y + (2y)°

= 16x” —16xy —3y° = 25x7 —20xy +4y°

8] (6a +3b) (6a —b) N 6] (24 +5b)>
ba=A L5&< 2a=A,5b=B £#<

= (4+3b)(4 —b) = (A+B)°

= A° +2b4 —3b° = 4° +24B +B’

= (6a)° +2bx6a —3b°
= 36a° +12ab —3b*

/7 -'.

= (2a)° +2x2ax5b + (5b)°
= 4a” +20ab +25b°
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11 (5x +3y) (5x —3y) 2 (6x—2) (6x—3) 2RO
= (5x) 2 —(3y) 2 6x=A4 t.5<
= 25x° — 9y~ = (A—2)(4-3)
\L 2RV 2RTT ! ] ,
= 4’54 +6
= (6x)° —5x6x +6
= 36x° —30x +6
3] (9a +2b)> 4] (2x —dy)> 2HO
9a=A4,2b=B +5< 2x=A,4y=B <
= (4+B)° = (4 —B)°
= A°+24B + B’ = A’ —24B +B”’
= (9a)” +2x9ax2b + (2b)° = (2x)° —2x2xx4y + (4y)°
= 81a’ +36ab +4b° = 4x” —I6xy +16y°
(5] (7a +4b) (7a —b) 2=x® (6] (4x—3y) (4x +35y) NX@

7a=A t5<
= (A +4b)(4 —b)
= A° +3b4 —4b°
= (7a)’ +3bx7a —4b°
= 49¢° +21ab —4b°

= (4x)° —(5)°
= J6x° —25y2
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[1] (2a—6b) (2a +5b) VA=NQ) [2] (3x—2) (3x +5) 2D
2a=A t3< 3x=A 255<
= (A—6b)(4 + 5b) = (4 —2)(4+5)
= A% —bAd —30b° = 4243410
= (2a)’—bx2a —30b° = (3x)° +3x3x — 10
= 4a’—2ab —30b° = 92 L 9x—]0
3] (6a +3b)° 249 (4] (9x +y) (9x —y) BR@
6a=A,3b=B t.5< = (9x)2 _y2
= (4+B)° = 81x? —y?
\[ 2FEUVLK2ETY ! ]
= 4?4+ 24B +B”

= (6a)” +2x6ax3b + (3b)°
= 36a° +36ab +9b°

[5] (8x —y)> ARG (6] (10x—35y) (10x +5y)

8x=A tH< = (10x)° —(5x)°
= (4 —y)’ = 100x? —25y°
= A° =24y +y°

= (8x)° —2x8xy+y’
= 64x°—16xy +y°
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